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<Our Numerals

Pihu's grandmother was doing some calculations on the table. Pihu looked her

calculation but couldn't understand it, they seem to be some new digit to Pihu. She
asked her grandmother about them.

[ )
9. Sugar IKg. 3% Rupees
R.  Potato 3Kg. &oRupees
3. Onion R Kg. Q¥ Rupees
8. Soap 9Pieces 9z, Rupees
&, Oil 9 Litter % Rupees
& Dal/Pulses 9/ UKg. 3c Rupees
9. Salt R Packet R0 Rupees
L Total : Rz0 Rupees )

Grandmother said that these are also numerals, we learnt mathematics with
these numerals. Grandmother also showed Pihu a calendar with these numerals.

Pihu wanted to ask more about the numerals, but grandmother was busy for her
work. So, she told Pihu to asked more about them from her teacher.

Next day Pihu asked more about the numerals to her teacher in the class. Teacher
said —

“These are the numerals of Devanagari script.” These numerals are also used to
write numbers.

These digits are like 0, 1,2, 3,4, 5, 6,7, 8, & 9 which are just as to write numbers.
In Devanagari digits these are writtenas o, 9, R, 3, %, %, §, Ot & &

K )



Numbers

In order to write numbers we make use of numerals such as 0, 1, 2, 3,..... These are
known as international numerals . We can also write numbers in the Devanagari
numerals. Let us see the numerals as they are written in both the scripts :

International numerals | 0 1 2 3 4 5 6 7 8 9

Devanagari numerals o 9 < 3 8 & & O T | €

The following table has numbers written in figures and in words. Learn to
1dentify each number and read its name :

1|9 TH |26 | % | B9 | 51| %9 | FmET | 76 | vg | o)
2 | R A (27| TR (52| 4| F@T | 77 | ©9 | TEEW
3| 3| 9 |28 |Rc|ACEA| 53| %3 | 0 | 78 | O | 3o
4 | 8| =ax |20 =e| 7@ |54 [ w8 | Saw [ 79 [ve | =
5| ¢«| 99 (30|30 @9 |55|%y| =™ |80 | co| o
6 | & B | 31|39 N9 |56 | & | BUT | 81 | <9 | THE
71 9| @@ [32[3| TO9 [57 | ¥ | GET | 82 | | T
8 | | e [33[33] Tw |58 x| orcem| 83 | <3| fwmn
o [ €| T [34(32] I [59 | ¥ | ST | 84 | =8 | I
10| 90| =@ [35[3%| T= |60 |&o| @ |85 |cy| T
11|99 | =E |36 |3&| 5@ | 61| &9 | =b9e | 86 | <& | &I
2| R T [37/39] Fa |62 |&| Tme |87 | <o | T
13/93| d® |38|3c| oEd | 63 | &3 | OXHS | 88 | o | STEMM
14 | 98 | 91ee | 39 | 3€ |oT=id | 64 | &2 | A9S | 89 | <& | @@
15| 9% | 98 |40 80| = | 65 | &2 | U@ | 9g | €o| =
16 | 9& | dAxTE | 41 | 89 |G | 66 | && | BIHS | 91 | €9 | 3HME
17|99 @ |42 | 8| TR [ 67 | &Y | WSS |92 | €| A
18 | 9t | 3BRE | 43 | 83 | dami¥ | 68 | &= | oe@C | 03 | €3 | T
19 | 9| S | 44 | 8% | AT | 69 | RE | STEAX | 94 | €8 | TA
20 | 0| S |45 | 8% | UawiE | 70 |90 | TR | o5 | € | TEFE
21 | 9| T | 46 | & | ™I [ 71 | 99 | SHETR | 96 | €& | TSI
2 | RR| TBa | 47 | SO | Ta@E | 72 | OR| ToX | 97 | €9 | wra
23 [ R3[| T2 | 48 | ¥ [EAIE| 73 | O | B | 98 | €< | STCed
24 | 8| A |49 | 85| STEE | 74 | 98 | TEAX | 99 | €€ | MY
25 | Rt | = | 50 | 20| T™E | 75 [ O% | T=EWX | 190|900 al




Raju and Chanda are also trying to know

There are nine beads
in the ones, tens and
hundreds column of the
abacus. In this way it
exhibits the number nine
hundred ninety nine. What
will happen if one bead is
increased in ones place.

Then we have to vacate the
ones columns, In
place of these ten beads and
put one bead in tens

column.

Oh , but already
there are 9 beads
in hundreds
column. Now what
to do?

Now tell what will Raju and Chanda do?

)

If we try to put one more
bead in the column of ones

it will not come on it
because only 9 beads can
be there.

-
S

But already there are nine
beads in the tens column. So
vacate the tens column and in
place of these ten beads put one
bead in hundreds column.




Vacate the hundreds column and in place of these nine beads we have to put one bead
in next column. Thus we need a new column. This means a new place. This new place is
called thousands. Therefore in place of ten beads of hundreds we put one bead in thousands

column.
# -
(90 hundred = ?) (90 hundred = 9 housand)
—> E—
4T o T 6 ThH T O

Now answer\

What will be the number if youadd 9with €E€7 ....oevviviiinninininn..

Inthe same way\

9+9+9+9+9+9+9+9+9+ 9= 90

l.e.tenones = ... ten

90 + 90+ 90+ 90+ 90 + 90 + 90 + 90 + 90 + 90 = 900

l.e.tentens =............ hundreds
Inthe same way\
900 + 900 + 900 + 900 + 900 + 900 + 900 + 900 + 900 + 900 = 9000
Ten hundreds = thousands
Th HT O Th HT O Th HT O
3 9 %R

Three thousand one hundred
forty two

e




Write the numbers in figures and words.

D BRI et
R IR B8 e
B
L+ SN six thousand nine hundred fifty

0T e e et e e,
Re vveiiiiiiin eight thousand six hundred two

O, nine hundred ninety

T, 300 0 i e ettt e
L U S A N
90, tiiiiiiinn six thousand seven hundred sixty one

Circle on the correct number \

Three thousand seven hundred fifty nine VW& & 3tY9  3%0¢

Five thousand three hundred twenty ©?30R ¥R03 ¥3R0  YoR3
One thousand two 900% 900 9200 9000
Six thousand ten goo9o  go9o g900 §o009

Two thousand three hundred sixty nine | R3I&E  EE3I RIVE Jo0gE

Four thousand two hundred ten BoOR90 890 809 ¥Bo9Ro




Match the columns

9. 9239

olelofelel

+

olelolelelo

_|_
_|_

oJelelo

9000 |[+|R00 |+ (30 [+| ¥

R.R830 =

_|_
_|_

eloJelele

3000|+| 900 |+| 0 |H &

+
|
+
+
_|_

o, = + +( )+ ()=[xo00 |+[800 J+[o ]4[o
Berrnn = + ++: i A+
Match the columns

9. ¥30E \\t&ooo+o + got 9) ©

2. 9439 (9000 + 300 + Yo+ %) GO

3. 4§03 3000 + 300+ 0 + §) 9

8. 9343 (9000 + Yoo+ 30+ %) %i()

Y. Y509 (8000 + goo+o+3 )

@y (weorieorery ) @2 8

13% 8

9000




Complete the series

9 R 38 ¥ &9 O & ¥ 93 9

Write the greater numbel\

Greaternumber How do you come to know?

9. %33%& and R3I3&

R. R93% and RI%Y

3. 9%R3 and 93R3

8. 389 and 3389




Find out the wrong statement and right statement. Correct
the wrong statement

Forexample: %3%§& > ¥93 > 3€9% > R€E€E  (right)

9. 949y < ¥9%9 < §38% <993y )
Q. 9R3E < 90¥R < 9083 > Joy9 )
3. TR < cOEE > V39> ¥¥3R )
8. ¥§09< §%90 T V3LY <38 )
Y. BYE < YEBR > §OUE > €383 ( )

Select any five numbers. Arrange them in descending order first and then in ascending
order using lesser than or greater than sign.

Without repeating the numbers read and write as many numbers

ds you can

9. Maketwo digitnumbers with 3 and T andread -

ooooooooooooooooooooooooooooooooooooooooooooo

3. Makethree digitnumber with 9, R and ¥ and read -

8. Make three digit number with ¥, & and 0and read -

%. Make four digitnumbers with 3, ¥, Oand € andread-
............... ) e e ey ety by be e
............... ) e e ey ety ey be e eny
............... ) ettt ey eee et et ey e e e e aea) caee e




.
<4ddition & Subtracti01>

Write numbers in the boxes as shown.\

T ) e O

T Subtract

/Q'C, + &O 9CO

—> 90 subt
<—ppv"3
3]

/\O

g3

g3

N
— - Vo
«— 098 -




Understand the pattern and proceed \

9+ 3+ 3=¢§
8+ Y+ & = 9Y
O+ ¢+ &£ = ¥

R+ 8+ & = 9IR
T + 90 + 9% = 3o

In the same way you also make two patterns\




Number game\

Select any number from the table. Do calculation using other numbers from the table
to get the number you have selected :

( )
s3 | R | &E | & %9 | TY By selecting the number &%
you find the number in this way:
8| 8y g€ | 38 | & §0 + 8 = §3,
95 | 9% | 90 | 98 | ©3 | 3% U8 S5 =
o 3 GE - ¢ = &8
98 | & 9 RT | ¥R | 39

3c| 93| 9 [83 |8 |=go

k@ﬁ to| 3R |99 | &€ XOJ
* Addnumbers the result of which will be 3%.

e Subtract numbers the result of which will be 3%.

Some answers are given below. Form questions from these numbers

- .
° Answeris 3% Ifthe answer is 9T, then the question may be as follows

« What will you getby adding € to € ?

« One basket carries € mangoes. How many mangoes

* Answeris 898

e Answeris 9 willbe there in such two baskets?
« Whatis the answerof R%-9?
° Answeris 9% « What is two times of € ?
¢ T X R =
g J

Add and subtractin the following boxes

+ | V39| goY | &IY - TT9 |Y0o0Y| §3TR
90| €99 &93 &3IER

39 Ozo

goY 903

K-



A\

Addition of numbers having 3 digits

Example :

© 0 9 mr HNOwWw ¥ N w
2
m ¥ o X oy W o X X M o~ O
°
2
. o~ ¥ o o~ v 9 o~ ¥ o o~ o
- - - - —- - -
o~ o 2% o
Y
M\u\o @) © m YV |V @) o mr YV |V o m
o
g
o= sw|| -CENEEY Q-] 9=
N
(e
5|z coo|| T@coo|| EENEED -
x
>~ + + + + + + £ +
- )
z 7]
< =
0




Solve these
9. ¥ 3Tk R. ¥V 3 c 3. 3809 Y%

+ T 9§ + Y OY +3 &<
. & 3 8§ . 38 3§ &. 9 <&

+ <R + R0 ¢ +3 %9 R
9. 93 + %<H z. 9999 + 99ttt t. YOzt + 39IRR
90. 89BY + ¥3&3 99. &<t + ¥&Vc 9. VIVR + £3c¢

The subtraction of 4 digit number \

Example: Substract &T%3 fromg3R9

T H T O
2 5% o
-& ©w Y 3
9 ¥ O bed
Solvethese\
9. % o ¥ ¢ W 9 € ¢ 9 3. ¢ & 9 R
-2 9 ¢ ¥ - Y o 3 - 3% o
g. 3 v & 3 Y. &R 3o &. R ¢ o
- R Vo § -8 L9 -9 3 € R
9. %&¥3-9%% T. t&3%¥ - %099 €. %ooo-R%%o
90. 9999 - ¥RRR 99. 8888 - R9&Y 9. T900 - Yt t

K-}



Addition & Subtraction\

9. Government Primary School Bijarbhantha got ¥3% Hindi books, ¥9R Maths books
and 138 books of English. How many total books the school got?

R. From two farms of papaya, plucked 3% % and R%% papayas respectively. Tell how

many more papayas were plucked from first farm than second farm?

3. 933 children go to school from higher colony and ©'\9 from lower colony. How many

more kids go to school from higher colony as compared to lower colony?

8. 843, 33z and ¥t Y fishes were caught from a pond of Temari. How many fishes were
caughtinall?

%. Population of Shankarpur is ©T99&. If ¥R33 of them are men, then how many are

women?

&. A refrigerator costs TOTO rupees, meanwhile the same refrigerator costs 9§ €0

rupees in another shop. Tell the difference in the cost of fridge from the two shops?




See the picture and say who has spent how much money
to purchase things at the following price :

P

Harpal purchased cycle and T. V.

Dinesh purchased bat ball, radio and mobile.

Raju purchased bucket, mug, almirah and telephone.
Salma purchased hockey stick, radio and mobile.

~~ N/~

)
)
)
)
Reetipurchased bucket, mug, radio and almirah. )

If every person has Rs. 9,500 then what amount of money would be left with each
one?

Now tell

9. Who has spent more: Harpal or Dinesh ?
Who has spent more: Dinesh or Reeti ? By how much ?

What is the total amount spent by Raju and Salma both?

x W

How much less was spent by Salma than Harpal ?

Now you ask your friends about their favourite things and find out their cost.

@




< Multiplication >

Form question from the given answer\

9R It
€ X R R X &
R X 9 g X 3

3 X ¥

8T Ry

Game of tables (Tables game)

If you know the tables from one to ten then you can form tables beyond ten: Let us
develop table of 93 :-

Tableof 90 | 90 Ro | 30 | BoO Yo | o | Vo TO £o | 900
Table of 3 3 &1 € 9| 9% | 9 | 9| W | W | 30
Tableof 93 | 93 | RRE |3 | YR | &% | VW | €9 | 90% | 999 | 930

To form table of 93 first we wrote table of 90 and then table of 3 then added them and

we getthetableof 93,9 + & =93 what will happen if we add tables of O and & ?
Letus doand observe :

Table of \9 \ 98| RI | R | 3¢ | ¥R | 8& | 4& | &3 | Yo
Table of & & 9| 9 | R | 30| 3% | ¥R 8T | ¥¥ | go
Tableof 93 | 93

Do you get the table of 93 ?
Can youdevelop the table of 93 by using other numbers? Which are those numbers??




Some more sums\

9. Ina garden there are \9 rows. In each row 9% rose plants are planted. How many total
rose plants are there?

R. Thereare RY oranges in a basket. How many oranges will come in such ¥ baskets ?
3. Atailorstiches 9% shirts in one day. How many shirts does he stitch in ¥ days?

You should try some more such problems and solve it in different ways. Try at least € & 4
processes for each problem.

How to solve?

Inprevious class you solved problems like 38 x 9, 9IRE x R

Now we will see 3R x9§

9 Whenever you multiply a number with some two digits number,
3R first you multiply ones number.
X 9% In this number ones digitis 6 therefore IR X § = 9€X

9T (3? X &) Now the second digit, 9 tensi.e. 90 is multiplied by 3R
+ 3R0 (3? X 90) 3R X 90= 30 Nowyouaddboth (9€R +3%0). The answer
%9 will be £9%.

There is one more process for multiplication

Wecanwriteit3R = 30+ R & 9§ =90+ §

Xl R0 Q
90| 30 X 90 R X 90 Now add all the four numbers.

300 R0 300 + 9o + 0 4 9} = —————-
& 30Xg | RXE

9To 9R

Is the answer the same as it was in previous process?
Now solve the sums given below in both the processes :

9. 8% X R3 R. € X<t 3. RO X R

8. ¥O X &L 2. 30X RE &. I x 88




Observe and understanoN

38§ X ¢ =7 otherprocessto solve it

16% 385 =300+ 80+ § & RY=30+ Y
x 2 X ] 200 % ;
_ R0 300 X0 | ¥oXRo| § XRo
9930 (38& X (i) §000 TOO 9Ro
+ &R0 (335\ X Qo) ¢ | 300X % 80 X ¢ XY
9%¢00 Q00 30

T&Yo

Thus 38& X ¢ = §ooo + 9%¥00 + oo + Q00 + 90 + 30

Solve these\

Or 38% X Ry = ci%o

9. ¥R X &Y R. 8&Y X 3¢ 3. Wz X 89
8. €9 X §§& ¢. Vg0 X 9¢ &. TO3 X Y
Problem Sums \

« There are &Y% students in a school. Each deposited Rs 9% for picnic. What is the total
amount deposited?
- Radhaisinneed of 9% copies. If each copy costs Rs. 9&. How much money does Radha
require?
« Inasmall box 9R ice cream cups can be kept. In a big box 9% times more icecream cups

can be kept. Answer how many icecreams can be kept in big box?

« A saree has R% different designs. Every design has 9% colours. A shopkeeper wants to

purchase one piece of each type of saree for his shop. How many sarees the shopkeeper
has to purchase for shop?

*  Onechaircosts Rs. ¥3&. What will be the cost of 3% chairs?

* Rameshwent tothe market with Rs. 3000, He purchased 9R sets of books at the rate of Rs.

99%. How much money is left with him?




.
< Division >

Remainder \
Can 93 sweets be divided equally among ¥ children.
" Youknow: )
8)% Here ¥ divisor
9 93 dividend
3 and 3 quotient

. J
This means that when 93 sweets were distributed equally among % children then

each child got 3 sweets and one sweet was left. Here remainder= 9.

Remainder = 9

Now solve the questions given below.

9. ¢+ % R. 3L+ § 3. ¥3+¢
8. 9)¥Rt ©. €£)3%¢3 &. 3)&Y%
O.c8 + ¥ . 8t + 9 . €9+ §

Write the divisor, dividend, quotient and remainder separately. Write the questions,

which have aremainder of ‘0’ in your copy and make a problem sum ofthese question. Two

problem sums are given here —

9. Y+ %

The teacher took out RY% books and distributed them equally among ¥ children. Tell

how many books each child would get and how many books would be left.

R. IELT

The costof 3 chairsisRs & ¥%¥. Then what is the cost of one chair?

Make questions and solve \

8T8+ ¥

THE COSTOT B SATEES « v v v oo et e vvunnnessesenennnnessssaensoeeessosessooeeesssassosoees




How to soIv&R

You have already done division in previous classes. Can you
tell 393+ 9 =7

3

93) 3% Here 39X s to be divided by 9%.You can not distribute
) 3% (9? * = 38‘) 3 hundreds into 9R parts. So convert 3 hundreds into tens
- IR In this way 3otens +\9 Tens makes 3\9 tens.
o
What will be the divisor of 39by 9% Letusread
9R X 9= 9%
IR X I=R%
IR X 3I=3%
IR X ¥ = ¥z
8z, is greater than 3\9. So we read table of 9% only three
times and subtract 3& from 39. 9 tens will be remainder
which we convert into ones. In this way 90 + {= 9] Ones
Now dividing 9% by9R isequalto 9.
This can also be done in this way:
RO+ ¥+ &
9?)300+k9? Ro+ 4%+ §=39
%0 (92 x 20)
()
~&° (92 x 5)
00 O
- B (92 x 6)
- 00

Now solve these questions

9. Oneropeis 93X m long. If we cut the rope into pieces of 9% meter each. How many
pieces can be cut?

<. Onebox contains 99 bottles. Then how many bottles will be there in 9% boxes?




Multiplication & Division\

9. Ahalwai takes out 9% Jalebis at a time. How many Jalebis will he takes outin € times?

<. Abowl has R& Jamun. How many Jamuns will havein % such bowls?

3. Afisherman makes & nets ina month. So how many nets he will make in8 months.

8. One shop have different X% designs of caps. Each design has 9% colours. A

shopkeeper wants to buy cap of every design. How many number of caps he has to
buy.

%. &% students are there in Primary Government School Dongripali. Each student

deposit 98 rupees for picnic. Tell the total amount deposited.

&. A basket has R%< berries. These berries has to divide among 9T people. How many

berries each people get?

. 9R girls of Primary Government School gets Rs. €00 in total, as the scholarship. Now

calculate how much amount each girl get?

T. From a pond, €0 fisherman collected 9R&© fishes. So how many fishes each

fisherman get?






